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Paper : MINFIN2

( Cost Accounting )

1. (a) <& 730 1x4=4
Fill in the blanks :
(i) T3 i[9tz I 01 I |
Costing is a technique of
¥ R Ty e T 3
RS TRE [ |

method of pricing issues is
suitable in case of raising prices.

(@)

P25/1528 ( Turn Over )




(2)

(i) SIEY @Ol X0 |
Depreciation is a ___ expense.
(iv) [ AR &S 7% TR (e
TS =2 |

costing method is applicab]e
for dairy industry.

(b) ST & iy o 1x4=4

Write True or False :

(i) R 6 S 2 TS A eI
S5+ ST |

Two types of idle times are normal
and abnormal idle time.

(i) 9B ARSI e A RO T IR
I o1t o |

Cost accounting is wuseful for
ascertaining the profit or loss of a

firm.
(iii) o IW AT R ofes [Femm
T |

Canteen expenses are apportioned
on the basis of number of workers.

(iv) G IAS SSH25 I76 Jfers 11 =7 |
Service costing is also known as
output costing.
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(3)

2. oo ARl R @ foRbm esme 5y Gl o
4x3=12
Write short notes on any three of the
following :

(@) TS e q5 AR
Activity-based costing

(b) TR G I

Time wage system

(c) TR= 363w '3 F&R
Bin Card vs. Stores Ledger

(d) SSRREY CTRY
Absorption of overheads

(e) AR PO

Process losses

3. (a) ==® BEeR SikEE fwar | AREEmR e 2o
336 259" @Y I F901 2+8=10

Define cost accounting. Explain the
importance of cost accounting as a
managerial tool.
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(4)

WS/ Or

(b) €I @EAAE 2024 Tg
@QW?WW%%BWWEE

GrREE 496 S M1 T Ry
areq %<5 RO Sfensa kg
10

Prepare the Cost Sheet to show the A
cost of production and cost per unit of
goods manufactured by a company for
the month of July 2024. Also find the
cost of sales and profit :

5 ()
EoIER 8%, 01.07.2024 S
Stock of Raw Materials as on 01.07.2024
o RO 28,000
Raw Materials purchased
G 8%, 31.07.2024 4.500
Stock of Raw Materials as on 31.07.2024
Tl TG 7.000 .
Manufacturing Wages
263 So[FQ Y1 2P 1,500
Depreciation on Plant
2153 b1 ST RAER TS (R (RO 300
Loss on sale of a part of Plant
PRYIAE SISl S (30 3,000
Factory Rent and Rates
6] el 500
Office Rent
RISIE RIS 400

General Expenses
L nas ( Continued )



4.

(@)

Vo)

51 (T)
&R s°R= @z 300
Discount on Sales
Rearom 216 SPeyefamcet s 3 600
Advertisement Expenses to be charged fully
RIRE S Ko B S T ReTa) 2,000
Income Tax paid
& 50,000
Sales

2024 R TR AT St Teoffrs FefMGR
S Hifkd  3000. 01.07.2024 =
31.07.2024 SRy o IR 8F @
200 ©F 400 TS0 Wifks | 01.07.2024
2,800 B | G2 FJCACd ROR Pwse [F&

The number of units produced during
July 2024 was 3000. The stock of
finished goods was 200 and 400 units
as on 01.07.2024 and 31.07.2024
respectively. The total cost of the units
on hand as on 01.07.2024 was Y 2,800.
All these had been sold during the
month.

wfofie sy ferce & oo =0 2 3959 Zhire
SfSRe AT IT0 (FAF G SP®?  3+7=10
What is meant by overtime? How should

overtime cost be treated in Cost
Accounts?
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(6)

<1/ Or

(b) S=TS frm [RERem R/ SR 41 (i) 4R TS B,
(ii) SIS B, (i) Prow T, (iv) [oM@ T
o SOR R cifRm wee i s Rfes
st R AN 2Yax4=10
From the details given, -calculate
(i) Reordering level, (i) Maximum level,
(i) Minimum level, (iv) Danger level.
Reordering quantity is to be calculated
on the basis of the following informa-
tion :
SO T TG i 4 q5—20 Bl
Cost of placing a purchase order is 20
JRACHIS T FIRAEAA 269 HAI—5000
Number of units to be purchased during the year
is 5000
ofRrzet <50 4f3 2ReCh! TBf5T FAIT—S50 T
Purchase price per unit inclusive  of
transportation cost is T 50
2% BB e AT FT—5 bl
Annual cost of storage per unit is T5
Details of lead time :
qo—10 fid, FE®—15 @, Jaei—6 T,
wEAFIA @S Aa—4
Average—10 days, Maximum—15 days,
| Minimum—6 days, For emergency pur-
chases—4 days

» P25/1528 ( Continued )
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(b)

(7))

AW/AIE :
Rate of consumptions :

AT SITe— 15 3G, i shifde—o20 TRB

Average—1S5 units per day, Maximum— 20 units

per day

W HRG SF 436 e e a1 2w
ARG WA T TG G A1 Ssjefnce]
BUSUESIN 2+2+6
Define cost allocation and cost
apportionment. Explain fully the

distinction between cost allocation and
cost apportionment. :

%<1/ Or

TS Ul RAPHR GOl TLATH (@A e
T IR 01 Teamw e A, B 5® C,
< 101 ORI RS X o Y =i

The following particulars relate to a
manufacturing company which has
three production departments—A, B

and C and two service departments—X
and Y :

=10

f?\@m / Departments

A B C X

¥

2R Ress Pk P
ey ssrczs (39e) | 6,300 | 7,400 | 2,800 | 4,500 | 2,000

Total departmental
overheads as per
|primary distribution
j(in )

|
|

P25/1528
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(8)

RAIE G|l Ao 436 oo Ml *e*[
ffe® o Pram o1 -
The company decided to charge the

service departments cost on the basis of
the following percentage :

G Rersr

Service
Deptt.

omr R |
Service Deptt.

o7 Aol
Production Deptt.

A B € X Y

40% 30% 20% = 10%
30% 30% 20% 20% -

P25/1528

[RReTT et &foe Sem@ Rl CRl
ReMy @ ETE Seomw  RePHRE WP
SS[{CRS RO 41 | 10
Find the total overheads of production

departments charging service depart-
mental costs to production on the
repeated distribution method.

TG @ P [ T2 @FEERE SIS
TG 7 a@ FM W? WR ST I

397 | 2+3+5=10
What do you mean by unit costing? In
which industry unit costing is applied?
Explain its purposes.

{ Continued |
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(b)

P25/1528

(9)

<1/ Or

% XYZ QoA Sgfana ¢Ners[ e
el AR 2% T pfe 2z SfRfees 1 13
0 kel 24 @R G 2024 A9 31
SRR fooe @R I T 2’9 o S
341 (2f2e | Te AR °[1 31 WEEIRl, 2024
OfRcy I (TR IRIT A pfEm G
AFS FRACe] (PIET (R :

M/s. XYZ Company undertook a
contract for erecting sewage treatment
plant for Prosperous Municipality for a
total value of T24 lakhs. It was
estimated that job would be completed
by 31st January, 2024. You are asked
to prepare the Contract A/c for the year
ending 31st January, 2024 from the
following particulars :

(i) STE3—3,00,000 5=
Materials—< 3,00,000

(ii) T¥[<—6,00,000 5T
Wages—< 6,00,000

(i) SSRCZE 51&—1,20,000 57
Overhead charges—< 1,20,000

fiv) Rom 2%—2,00,000 5=
Special plant—=< 2,00,000

10
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(10 )

(v) I o9 Sfes 16,00,000 BF1 S
JAR 80% oM 4GS o1TS F4T C2f=e
Work certified was for ¥ 16,00,000

and 80% of the same was received
in cash

(vi) 31.01.2024 <Ry B <R =
EA—40,000 I
Materials lying at site as on
31.01.2024—< 40,000

(vii) 2T5% F 10% BT I (R
Depreciate plant by 10%

(viii) SR T4 AR TR 5% A TGRI 6%
I o @R WeR A I 3=
g R, e «feare amfde @@ TR |
SORIET HoP NgRI o 2o ¢
£
5% of the value of materials issued
and 6% of wages may be taken to
have been incurred for the portion
of the work completed, but not yet
certified. Overheads are charged as
a percentage of direct wages

(x) IE TNIE WS I IR AR
e 2P ST I =/

Ignore depreciation of plant for use
on uncertified portion of the work

’
?
E
;
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(11 )

(x) ToEfd I Fre fSfee are W% s
f2o1e1tal 2@ FfAFam aaif ey @

Ascertain the amount to be
transferred to Profit & Loss A/c on
the basis of realized profit

(2039 T #IFFTAR I TSRS 20 757 )
( Additional 20 marks for 2023 Batch )

7. (a) “RvEETEe PR TR ST %€
cfRfSTE I 4 | 10
Explain the classification of costs for the

purpose of managerial decision-making.
%241/ Or
(b) TR GFITVS SRS I I/ (FCACD
f=efe w1 =12

How should overtime cost be treated in
Cost Accounts?

8. (a) &= Toiffam Iforcar & 3o 2 W= v e gf
R = ? 10

What do you mean by fixed overheads?
Why are they called burden?

<1/ Or

(b) Tf& FEoresTR RiFE EFEEETR I 40 |
Explain the distinguished features of
contract costing.
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Paper : MINMKT2

( Advertisement Management )

1. (@) W& @ ST &0
Write True or False :
() Sl REME IPWI R IJ=mims
R fere @R = |
Industrial advertising is also calleq
Business-to-Business advertising.
(i) TN I PCARTOR RErem vy
Rceorece fad |

The local store patronage
advertised by the wholesalers.

(i) T=' TSRl 7Fo2 IMCI @ yR
S8 ¢ |

Cross disciplinary skills create g
barrier to IMC.

1x3<3

is

(b) & I o[ I : 1x3=3
Fill in the blanks :
(i) (2R SR 951 IFE2T e |

i1Is an impersonal form of

communication.

(i) @ER (F (AR 90 & =or
I |
Bonus pack is a sales

promotion technique.

P25/1528 ( Continued )




2. TFS

( 13 )

(i) 4 AIDA 3 zaéa Ffafsa |
AIDA was introduced by |

frarcaras o5 e foran - 4x2=8

Write short notes on the following :

(@)

(b)

(b)

P25/1528

TS w1 =

Comprehension vs. Interpretation

RAT 1L
Print Media

Rerm 2 RerE e gfere {@e Toe
N7 O 41 | 4+8=12

What is advertising? Differentiate
between advertising and personal
selling.

<1/ Or

“Rearms 9y 27 @l fodre ey @
Y=, STHA A CRR F-AfFMe Togrom e

YRS R FIC 2w =T 1”7 00 640 | 12
“Advertising means any paid form of
non-personal presentation and

promotion of ideas, goods or services by
an identified sponsor.” Explain.

( Turn Over )




(14 )

4. (a) WS RAM @mEms o 3

TS Ry
CTISCI9] F{Tm S SICETBAT 37 |
What is integrated marketin
cation? Discuss the

integrated marketing com

g€ comm
munication

Unj.
of

<1/ Or

(b) RE 2R et o R g2 ey
Wmﬂ@ﬂwﬁ@mmméﬁ
AT I | ;

What do you understand by saleg
promotion? How sales promotion helps

the manufacturers, consumers and
traders? Explain.

5. (@) RerFe 9@ = &2 9 wwg o
TR FFeTOR SBIE Ifa <oy
R e 354 | 3+8=1]
What is ‘word-of-mouth’ in advertising?
Discuss the characteristics that
increase the likelihood of success of
‘word-of-mouth’ communication.

<1/ Or

(b) TERALES EAPYZ J29 TR TR offmy

S=oc$ IR 41 11

Explain the diffusion process of
adopting the innovative products.

P25/1528 ( Continued )




(15 )

6. (@) IPARM R PrRBF Tommemz A
91 | 3+8=11

What is copywriting? Explain the
elements of copywriting.

(b) TS fAAPTYR A I : 6+5=11
Explain the following :
(i) R Iced
Media budget
(it) ST=ABIT Y
Broadcast media

(2030 THF ATV I TfoR& 0 779
( Additional 20 marks for 2023 Batch )

7. (@) RErm “Resw af@r {fen omesr Rew
[N 410 10

Explain different steps in advertising
planning process.

¥%<1/ Or

(b) TS e o & q@? THeriR Al
9|

What do you understand by public
relations? Explain with examples.

P25/1528 ( Turn Over )
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(b)

P25/1528

How can consumer attention b 10
grabbed by the marketers? S

TS /aOr
TS fACIRe B fora e

=1
Write notes on the following : 3

(i) TS TS

Experimental approach

(i) e Resga

Regression analysis

( Continued )
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Paper : MINHRM?2
( Labour Welfare )

(a) W W‘E\ %Pﬂ % 1x3=3
Write True or False :

() 1965 7o 7 Afis Fome e wize
S 7 |
The Bombay Labour Welfare Fund
Act was passed in 1965.

@) I 300 wfEs =GR Ficas =7,
9 R e s cst IECH
1948 3 337 R{f¥ |

Appointment of Welfare Officer, if
300 or more workers are employed

is a main provision of the Factories
Act, 1948.

(i) IAHAST TSR A TR ((57%
g |

For political awareness, social
network is important.

(b) A I R 0 1x3=3
Fill in the blanks :
(i) s Rivzee ST

Urban disintegration is
problem.

P25/1528 { Turn Over )



(18 )

i) RS R

FEATR AQ ___ TRTa |
health and welfare of

ployed in mines are the

Safety,
workers em
concern of

)
ST |

¥e = [, T T

@ AR R QeIEnR

requires that there is frequent

two-way communication.

2. woe RS 5Y BT o

Write short notes on the following :

(@) & AN =g

Contract vs. Construction

(b) SRS ARG TJTFE T

4x2=8

Development of Indian Social Security

fTacg T 90 |

xfies e 13 7 2 Fepes ST E Siverol
5 o W o e fPryEs Ry TIER

241 0=-12

What is labour welfare? Explain the

problems
welfare arose and

and difficulties’ of labour
status of

measures after the First and Second

World Wars.

P25/1528
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(19 )

Y9/ Or

(b) €. TR, RS By oft xfis frem
ﬁ%ﬁ@m@mmwm? 12

How would you introduce different

techniques of Worker’s Education as
HRD-Director?

4. (a) W%WW%W?WWWW
E SRS (@FAF Ref R s
Al 3+9=12

What do you mean by Industrial
Accident? How will you measure the
frequency and severity of accidents?
Discuss.

Y1/ Or
(b) SRR IR W2, 1948 WP sl
F%)’3 R wcasn 54 | 12

Discuss the ‘health of workers’ as per
the Indian Factories Act, 1948.

5. (a) pfem =T S®Wwe T shres BFgo
ARF FANEE TR R e w91 11

Discuss the important labour welfare
measures to be adhered under contract
labour.
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i
;
E
f

-

(a)

(b)

I el Jfm 09 ? 01 P 3+8<1

What is business process outsourcing?
How are BPO companies able to reduce
costs and improve efficiency? Explain.

TR IS AFR SRON WX
SOANTAIT @ T AORE [RETS “Rficaey
91|
Make a review on Indian Laws of social
security to workers and its impact on
industrialization.

&</ Or
o [N TE TS TR 2R
o7 1”7 SACeTs 1 |
“Social insurance and social assistance

supplement each other side by side.”
Discuss.

( 2039 T ArFITE TR WfS_RE 20 799

( Additional 20 marks for 2023 Batch )

P25/1528

(@) TTPES IV IfaT IR T PSR [

HCEAoAT <R 4T |

Discuss the factors responsible for
growth of slums in towns.

11

10
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T T 2 R L T R 0 P R L TP

R e e g

(b)

( 21 )

11/ Or
TP Freceferen Nfesryz e 4 |

Explain the principles of an effective
counseling.

e =fi ez Rz = @ 10

Explain the provisions of the Child
Labour Act.

<1/ Or

(b) SRS &S JTFR Sl 3 2 SCeway 7 |

P25/1528

What is the status of social security in
India? Discuss.

( Turn Over )
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Paper : MINBNI2
( Principles of Insurance )
I.WWWW@Wﬁm; {%gad
directed :

Answer the following as

(@) @mﬂmfﬁﬁmﬁmﬂW@wm
R ATE 7, (O A1 w6 @

| ey 4 SR R *@7 RN FNA?
| What term is used to describe the value
} of an insurance policy when all
l

premiums have been
further payments are required?

paid and no

(i) SICIVHE bl
Surrender value

(ii) CoES-S IV
Paid-up value
(i) T2 50

Premium value

(iv) FEICN T
Deductible value

(o TeICo! I Tferean )

( Choose the correct answer )

P25
/1528 ( Continued )




i L

e e

P25/1528

|

B e T

(b)

(d)

(23 )

R ifefbe Ars =@ b1 AFER oo «AfRibe
58 WPIR ST W@ o 391 7 Ol
“{feif> 3 &= T |

CICIRER LRI

A certain percentage of the sum assured
to be paid periodically according to the
policy term is known as

( Fill in the blank )

IR Te® @RI (27 @ IR Rz
APl SR werz A1fFq =11f |
QIEIREEED)

principle of insurance states that
the insured must have a financial

interest in the subject matter of the
insurance.

( Fill in the blank )

RIAG-foie “Afeifocn TwR i ST e
Rfvcs Ta1 Rew wsiqoy |

(8% & =7 o)

Unit-linked policy offers investment
option linked to market performance.

( Write True or False )

{ Turn Over )
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(24 )

(o) = =xw AR IS IR Ty Gy,
R FOIS U P |
(@%mmvg,ﬁm

Whole life policy provides Coverage f,
entire life of the insured. o

( Write True or False )

() S-Siaw [ enfEe Sown 2

What is the primary purpose of the
non-life insurance?

(g) [ R o TEEA FETFA (IRDA) sy
ACE,

The Insurance Regulatory and Develop,
ment Authority (IRDA) has the power tqo

(i) I SARCE SR w0
issue licences to drive vehicles
(@) TN @EAR AF TIESIIIE Y-
IS fAgET <0 |

regulate the functioning of
Insurance Companies and inter-
mediaries

(i) TocerE WNAR Tou (R F
set the price of consumer goods
(iv) BT cvae siTm 9

conduct medical research
(=% Te001 311 Serear)

( Choose the correct answer )

P25/1528 ( Continued |
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(25 )

() Wﬁwqmmmwmﬁmq
90 |

(0% & w97, forar )
The main function of insurance

regulators is to determine insurance
premium rates.

( Write True or False )

2. oo AT R @ sifReR SIS Y (O fersr

3x4=12
Write short notes on any four of the
following :
(@) 1AW
Reinsurance
(b) I T S

Principle of insurable interest

(c) SRS &g AN 3w

Life Insurance Organizations in India

(d) S-G9 AR AR 271

Types of non-life insurance products

(e) AT ERFAH

Insurance ombudsman
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3. (a)

(b)

4. (a)

| (b)
*
;

5. (@)

(b)

( 26 )

SR SR T A S AL #4111
Discuss the role of insurance in
providing social security.

we<r/ Or
A fRfEw [RTS selde N CAMEEER

HCeAl 4 |
Discuss the factors influencing the
determination of insurance premiums.

T ple R Mo 3¢far 341 | 10
Explain the various principles  of
insurance contract.

&4qr/ Or
e ve Rfow oRfEe RIS 47 |
Discuss the various phases of life |
cycles. 1
T RRm oome [ oz R
HCADAT 4T | 10

Discuss about the different types of
insurance policy.

51/ Or
ARG 72 S T wp" F IR TETS

ANYLLTIR 1F 2 3+7=10

What is annuity? Distinguish between
annuity and life insurance policy.

P25/1528 ( Continued |
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6. (@) &N AN wF w-Sww T SShE rES
NYFCIR I F47 | 10

Explain the difference between Life

Insurance and Non-Life Insurance
Policy.

&2{1/ Or

3 (b) SRSHT Rfen goms I @R e
| SICEToNT 1 S AR Y27 IO Seamg 1 |
7+3=10
Discuss about the various types of
Insurance Companies in India and
mention their main functions.

( 2029 THT IFFITT IR A& 0 771 )
( Additional 20 marks for 2023 Batch )

7. (@) <IRo® I TR AR [RTST sqiF A0
< Sl 10

Briefly explain the historical evolution of
insurance industry in India.

w21/ Or
(b) &R AT F 2 T I 4RI g [ vl
4] (FETCE YL =W, I 0 3+7=10

What is whole life insurance? Explain
how it differs from other types of life
insurance policies.
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( 28 )

8. (a) IV ITEIA TSI SRF S 37 |

Discuss the role of intermediaries in the
insurance market.

’[T/ Or

(b) TECRT SRS TR R ASTZE R 9
What are the -significant challengeg
faced by the healthcare industry? \

10
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